General Info

Number: 690236-100148-C-2321

Description: New World Dr. Water Line Improvements

Deadline: 2021-05-26 19:00:00 UTC

Bids					
Business	Bid Total	Submitted at	Signed by	Opened at	<u> </u>
					*NON-
					RESPONSIVE; NOT
Driven Excavating LLC	\$205,240.5	50 2021-05-26	14DARRIN FEICHTNER	2021-05-26 19:01:15 UTG	C PREQUALIFIED
Danbert, Inc	\$241,766.4	4 2021-05-26	13 Matthew Lemon	2021-05-26 19:00:38 UTO	
Darby Creek Excavating, Inc	\$528,494.0	00 2021-05-26 1	18 Kevin Steward	2021-05-26 19:01:53 UTG	

ORD #1520-2021, Division of Water New World Dr. Water Line Improvements CIP 690236-100148 CT 2321 Bid Tabulation, Opened 5/26/21

(not local)

					Engineer's Estimate		Danbert, Inc.	
Ref. #	Item #	Description	Qty	Units	Unit Price	Extension	Unit Price	Extension
254	1	PAVEMENT PLANING, ASPHALT CONCRETE	299	SY	\$10.00	\$2,990.00	\$15.00	\$4,485.00
407	2	NON-TRACKING TACK COAT	45	GAL	\$15.00	\$675.00	\$4.65	\$209.25
		ASPHALT CONCRETE SURFACE COURSE,						
441	3	TYPE 1, (448), PG64-22	25	CY	\$200.00	\$5,000.00	\$225.00	\$5,625.00
614	4	MAINTAINING TRAFFIC	1	LS	\$15,000.00	\$15,000.00	\$28,014.97	\$28,014.97
659	5	SEEDING & MULCHING, CLASS 1	10	SY	\$10.00	\$100.00	\$117.11	\$1,171.10
801	6	12 INCH WATER PIPE AND FITTINGS	170	LF	\$200.00	\$34,000.00	\$294.69	\$50,097.30
		DUCTILE IRON FITTINGS, INCREASE OR						
801	7	DECREASE	460	LB	\$3.00	\$1,380.00	\$4.23	\$1,945.80
		CONCRETE BLOCKING CLASS C, INCREASE						
801	8	OR DECREASE	7	CY	\$300.00	\$2,100.00	\$191.70	\$1,341.90
806	9	24 INCH CASING PIPE	97	LF	\$750.00	\$72,750.00	\$888.67	\$86,200.99
		INCREASE OR DECREASE IN EXCAVATION OR						
811	10	BACKFILL	9	CY	\$40.00	\$360.00	\$82.31	\$740.79
815	11	CRUSHED STONE OR GRAVEL	1	CY	\$50.00	\$50.00	\$560.09	\$560.09
SPEC	12	SURVEY COORDINATES	1	LS	\$3,000.00	\$3,000.00	\$412.62	\$412.62
SPEC	13	TEMPORARY SEDIMENT & EROSION CTRL	1	LS	\$5,000.00	\$5,000.00	\$1,150.88	\$1,150.88
SPEC	14	PERMANENT PAVEMENT	24	CY	\$500.00	\$12,000.00	\$274.00	\$6,576.00
SPEC	15	PROJECT IDENTIFICATION SIGNS	2	EA	\$1,000.00	\$2,000.00	\$850.00	\$1,700.00
		ALLOWANCE - RAILROAD PROTECTIVE						
SPEC	16	LIABILITY INSURANCE AND FLAGGING	1	LS	\$17,986.58	\$17,986.58	\$20,000.00	\$20,000.00
		Subtotal:				\$174,391.58		\$210,231.69
		Contingency (15% of items 1-16):			\$26,158.74		\$31,534.75	
		GRAND TOTAL:				\$200,550.32		\$241,766.44
		% DIFFERENCE FROM ENG'S EST.:						20.55%
		% DIFFERENCE FROM LOWEST BIDDER:						N/A
		Contract Compliance No.					31-1029004 (3/10/	/22, MAJ, 4618)

ORD #1520-2021, Division of Water New World Dr. Water Line Improvements CIP 690236-100148 CT 2321 Bid Tabulation, Opened 5/26/21

(not local)

				Engineer's Estimate		Darby Creek Excavating, Inc		
Ref. #	Item #	Description	Qty	Units	Unit Price	Extension	Unit Price	Extension
254	1	PAVEMENT PLANING, ASPHALT CONCRETE	299	SY	\$10.00	\$2,990.00	\$20.00	\$5,980.00
407	2	NON-TRACKING TACK COAT	45	GAL	\$15.00	\$675.00	\$20.00	\$900.00
		ASPHALT CONCRETE SURFACE COURSE,						
441	3	TYPE 1, (448), PG64-22	25	CY	\$200.00	\$5,000.00	\$500.00	\$12,500.00
614	4	MAINTAINING TRAFFIC	1	LS	\$15,000.00	\$15,000.00	\$100,000.00	\$100,000.00
659	5	SEEDING & MULCHING, CLASS 1	10	SY	\$10.00	\$100.00	\$10.00	\$100.00
801	6	12 INCH WATER PIPE AND FITTINGS	170	LF	\$200.00	\$34,000.00	\$500.00	\$85,000.00
		DUCTILE IRON FITTINGS, INCREASE OR						
801	7	DECREASE	460	LB	\$3.00	\$1,380.00	\$10.00	\$4,600.00
		CONCRETE BLOCKING CLASS C, INCREASE						
801	8	OR DECREASE	7	CY	\$300.00	\$2,100.00	\$300.00	\$2,100.00
806	9	24 INCH CASING PIPE	97	LF	\$750.00	\$72,750.00	\$2,000.00	\$194,000.00
		INCREASE OR DECREASE IN EXCAVATION OR						
811	10	BACKFILL	9	CY	\$40.00	\$360.00	\$100.00	\$900.00
815	11	CRUSHED STONE OR GRAVEL	1	CY	\$50.00	\$50.00	\$80.00	\$80.00
SPEC	12	SURVEY COORDINATES	1	LS	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00
SPEC	13	TEMPORARY SEDIMENT & EROSION CTRL	1	LS	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00
SPEC	14	PERMANENT PAVEMENT	24	CY	\$500.00	\$12,000.00	\$600.00	\$14,400.00
SPEC	15	PROJECT IDENTIFICATION SIGNS	2	EA	\$1,000.00	\$2,000.00	\$2,000.00	\$4,000.00
		ALLOWANCE - RAILROAD PROTECTIVE						
SPEC	16	LIABILITY INSURANCE AND FLAGGING	1	LS	\$17,986.58	\$17,986.58	\$20,000.00	\$20,000.00
		Subtotal:				\$174,391.58		\$459,560.00
		Contingency (15% of items 1-16):				\$26,158.74		\$68,934.00
		GRAND TOTAL:				\$200,550.32		\$528,494.00
		% DIFFERENCE FROM ENG'S EST.:						163.52%
		% DIFFERENCE FROM LOWEST BIDDER:						118.60%
		Contract Compliance No.					31-1345111 (expir	red, MAJ, 5129)

ORD #1520-2021, Division of Water New World Dr. Water Line Improvements CIP 690236-100148 CT 2321 Bid Tabulation, Opened 5/26/21

(NON-RESPONSIVE)

					Engineer's Estimate		Driven Excavating LLC	
Ref.#	Item #	Description	Qty	Units	Unit Price	Extension	Unit Price	Extension
254	1	PAVEMENT PLANING, ASPHALT CONCRETE	299	SY	\$10.00	\$2,990.00	\$30.00	\$8,970.00
407	2	NON-TRACKING TACK COAT	45	GAL	\$15.00	\$675.00	\$5.00	\$225.00
		ASPHALT CONCRETE SURFACE COURSE,						
441	3	TYPE 1, (448), PG64-22	25	CY	\$200.00	\$5,000.00	\$500.00	\$12,500.00
614	4	MAINTAINING TRAFFIC	1	LS	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00
659	5	SEEDING & MULCHING, CLASS 1	10	SY	\$10.00	\$100.00	\$5.00	\$50.00
801	6	12 INCH WATER PIPE AND FITTINGS	170	LF	\$200.00	\$34,000.00	\$507.00	\$86,190.00
		DUCTILE IRON FITTINGS, INCREASE OR						
801	7	DECREASE	460	LB	\$3.00	\$1,380.00	\$3.00	\$1,380.00
		CONCRETE BLOCKING CLASS C, INCREASE						
801	8	OR DECREASE	7	CY	\$300.00	\$2,100.00	\$180.00	\$1,260.00
806	9	24 INCH CASING PIPE	97	LF	\$750.00	\$72,750.00	\$110.00	\$10,670.00
		INCREASE OR DECREASE IN EXCAVATION OR						
811	10	BACKFILL	9	CY	\$40.00	\$360.00	\$75.00	\$675.00
815	11	CRUSHED STONE OR GRAVEL	1	CY	\$50.00	\$50.00	\$50.00	\$50.00
SPEC	12	SURVEY COORDINATES	1	LS	\$3,000.00	\$3,000.00	\$3,000.00	\$3,000.00
SPEC	13	TEMPORARY SEDIMENT & EROSION CTRL	1	LS	\$5,000.00	\$5,000.00	\$1,500.00	\$1,500.00
SPEC	14	PERMANENT PAVEMENT	24	CY	\$500.00	\$12,000.00	\$500.00	\$12,000.00
SPEC	15	PROJECT IDENTIFICATION SIGNS	2	EA	\$1,000.00	\$2,000.00	\$5,000.00	\$10,000.00
		ALLOWANCE - RAILROAD PROTECTIVE						
SPEC	16	LIABILITY INSURANCE AND FLAGGING	1	LS	\$17,986.58	\$17,986.58	\$20,000.00	\$20,000.00
		Subtotal:				\$174,391.58		\$178,470.00
		Contingency (15% of items 1-16):				\$26,158.74		\$26,770.50
		GRAND TOTAL:				\$200,550.32		\$205,240.50
		% DIFFERENCE FROM ENG'S EST.:						2.34%
		% DIFFERENCE FROM LOWEST BIDDER:						-15.11%
		Contract Compliance No.					84-2637427 (n	o CC#, 33459)
			•				*Not Draguelified	

*Not Prequalified.